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1) KNO3(s) = K0(s) + O,(9) + N2(9)
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1) Fe(NO3),(aq) + KOH(aq) — Fe(OH),(s) + KNO3(aq) (AO sl3)3)
2) Al(s)+CuSOg4(aq) — Al»(SO4)3(aq) + Cu(s) (AO 653)
3) Fey(S04)3(aq) + NaOH (aq) — Fe(OH)3(s)+ NaySO4 (aq) (AgsIna)
4) FeClz(aq)+ NaOH(aq) - Fe(OH)3(s) + NaCl(aq) (AV yo2pe)
5) PH3(9)+0O2(9) = P4O1y(s)+ Hp0(9) (A9 s513)
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1) NH3(g)+HCI(g) = ..ovvvnee (s)

2) AgNO3(aq) + NaCl(aq) —» AgCI(......)+ NaNO3(......)

3) K2SO4(aq) + .o (ag) > 2KNOg3(aq) + BaSOy(......)
) I (s)+6Na(s) —» 2Fe(s) + 3NayO(s) + Ifo-

5) Cd(NO3)2(aq) + HoS(9) = .vvvvvnenee (9+2HNO3(aq)

6) Cu(s)+2AgNO3(ag) = ..cccevee. (aq) + 2Ag(s)

7) 2AgNO3(ag) + ....cvveee. — AgoSO4(9)+2HNO3(aq)

8) Cly(9)+2KBr(ag) = ....cceue. + 2K Cl(aq)

9) BaCl,(aq)+ AgNO3(aq) — AgCI(s)+Ba(NO3),(......)
10) 2ZHNOg(aq) + ...ovveveee (ag) = 2H,0(1)+Ba(NO3) o (aq)
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